Transition Elements
The transition elements are all metals so they exhibit typical metallic physical properties.

Although they are further away from the nucleus, 4s orbitals are lower in energy in 3d orbitals. This means that 4s usually fills before 3d.

Write out the electronic configurations for Sc to Zn
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Why are copper and chromium different?

Formation of ions

**When the d-block elements form ions, the 4s electrons are lost first.**

Write out the electronic configurations for these ions;


4s
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 Cu2+
*Cu+

 Zn2+
**A transition element must form at least one stable ion with a partially filled d-shell.**

Sc only forms Sc3+ which is 3d0
Zn only forms Zn2+ which is 3d10
Chemical properties

There are four main areas that we will look at over the following lessons;

1) Transition elements have variable oxidation states, for example copper can be Cu+ or Cu2+, Manganese can be Mn+, Mn2+, Mn3+, Mn4+, Mn5+, Mn6+ or Mn8+ !

2) Solutions containing transition metals are coloured, Cu2+ is blue (remember copper sulphate?).

3) Transition elements are often used as catalysts.

4) Transition elements can form complex ions.
